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Answer  FIVE FULL Questions MARKS CO RBT 

1 (a) Define Evaporation. With a neat sketch, explain the measurement of 

evaporation using ISI standard class A pan. 

[05] CO1 L2 

   (b) What are the various methods of measurement of the rate of infiltration?. Also, 

explain the determination of constants in Horton’s equation 
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2  The rate of rainfall for successive 30 minutes period of a 4 hour storm are as 

follows: 

3.5, 6.5, 8.5, 7.8, 6.4, 4.0, 4.0, 6.0 cm/hr. Taking the value of  ᵠ index as           

4.5 cm/hr. Compute i) Total Rainfall ii) Total rainfall excess and iii) W- Index.   
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3  (a) 

 

Define Hydrograph. Explain various components of the flood hydrograph.  
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    (b)    Given the ordinates of 4hr. unit hydrograph, derive the ordinates of 12 hr unit 

hydrograph for the same catchment  

Time 

(hr) 

0 4 8 12 16 20 24 28 32 36 40 

Ordinat

es of 4hr  

0 20 80 130 150 130 90 52 27 15 5 
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4  (a) 

 

 

     (b) 

 

Define unit hydrograph. Explain the assumptions made in deriving the unit 

hydrograph. 

OR 

 Explain with neat diagram of a (a) Simple infiltrometers b) Double ring      

infiltrometers.                                                                                                                          
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  5  (a) Rainfall of magnitude 3.8cm and 2.8cm occurring on two consecutive 4-hr 

durations on a catchment of area 27km2 produced the following hydrograph of 

flow at the outlet of the catchment estimate the rainfall excess and Φ-index. 
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  (b) 

  

A Strom over a catchment of area 5km2 had duration of 14 hrs. The mass curve 

of rainfall of the storm is as follows: 
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If the Φ-index for the catchment is 0.4 cm/h. determine the effective rainfall 

hyetograph & the volume of direct runoff from the catchment due to the storm 
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